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28.7.3
68a (7 mwn) > 69a (7175 PHD 7327 A5 NN INTN)

Note: unlike a 7073 1533, which generates WP YA NRVIV, a 1AV 91¥ No31only generates Y2537 1223 07723 NRMIY, meaning that when
someone consumes a MY 91 1513, the clothes he’s wearing become NOD.

Note: there are two versions of our 73¥n— as printed in the T05om, the line “..p510971 55”appears at the beginning; we will present it as it
appears in the nrywn — at the end of the mywp.
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I ’n mwn: those invalid 913n navp that are considered mYai — and those that are not
a  If: he did npon with his left hand or at night — 5108 but not a n%
i And if: he performed nvnv (instead of np*on) on PN in the N7ty or on WP outside — not a nY»a
b However: if he performed np*%n with a knife or proper npon on P> inside or on DW1p outside — N2
i And if: the bird was too young or old, had withered wings, was blind or missing a leg - n%a3
¢ Rule: if the %08 was in the wTpn — not a nYa3; if outside - Y2
d  General: all 909 (listed in X:1 ’nar) who perform np*9n — the offering is invalid but not a n%a
II  Dispute 110y "7/27 re: 9t npvn
a a7 left-handed np*9n and n%% npon do not generate NRMV; 1 Np*on and if done with a knife do generate nxkmv
i Rationale: Y8nw has a proper moment in 2”0 nmay; N % is valid for bringing limbs and fats to nam
ii  Challenge: 71 is valid — for onar no'nw
1 Answer: 0NV is not properly considered an nmay
2 challenge: it ought to be, as 871 7 ruled that nmTR 119 NVNY is invalid if performed by 7t
(a) Reason: v» 72701 Uses MYYR (V171 113) and Npn (implying it must be done exactly as stated)
3 Defense: nmIR 110 isn’t narm »w1p, it’s 2”071 OWTP
(a) Counter: then nvnw should be considered an nmay via ¥’p — if 2”12 O, V" to N MVTP
(i) Defense (8”17 7772 N®’® 77): as per YN MRIN — not an N1y, yet must be done by jna
iv  Challenge: infer from nna— where any nmay performed by a =1 is valid
1  Answer: we don’t infer from a nna
2 Challenge: we allow &xv, if put up, not to be taken down (79 8> n%y oR) based on nna
(a) Answer: that is guided by expansive read of n%1wn nn nxt (v. 1)
b prr 7ot (like 0991 YRNW) doesn’t generate NY>>an n’a NRMY — 2o does
¢ analysis: end of mwn: prvan Y3 etc.
i 7% easily understood - extends to include
ii 375 1it cannot extend to N YRnW — they are mentioned explicitly in nawn
1 defense: Ran could have presented rule then explicated
(a) (note: this is support for our edition with this line at beginning of niwn)
d  analysis: rule in our mwn ("%30 n1”) — which includes extending “75” as not generating ny"»an n’a nkMY
i 7% extends to include
ii 375 extends to include nothing
1 back: the second half of the “rule” is difficult for v —
2 rather: RwM extends to include D'wTp that were vnwi inside; X0 to include PYIN Nprvn outside
e  support for »7(87272): npYon done by 91, “109” or on V19 — not RNVN
f  further (possible) support: pny> '7 reported hearing that 1 of [7r n¥'np ;3 npon] 790 N%Y DR and the other — 70 &Y Ny DR
i /prm reasonable that the 9t n¥np is the one that must go down
1  rationale: 91 np>on exists on a Nna
2 challenge: 7t n¥np exists at a nna as well
(a) explanation: to opinion that nnaa nmn PR, there’s also no 9w 127p there; if Nnaa nMn v, then gy v
(b) source (for position that there was neither there): v'nat (mentioned in 75 Mnw — at mna at foot of 1o 7n)
(i) o’nar and not may; onar — and not NN
3 answer: there was no N *931 V1p at a Nna (rather, the n¥'np was done from 5N *93 straight onto narn)
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III  source for any np*on done inside not being n»*%an n*aa xnon:
a  v.2(inre: N9101 19721 NRM of an Y) — N1
i challenge: this is also a n%2)
b rather: namv (ibid)
i interpretation: the animal becoming a N0 doesn’t generate any 1n’n for it — but np*yn does generate narm? n’n
1 meaning: even though it is 9108 (if done with left hand or at night) — 70 R n%y or
2 conclusion: this generates the inclusion of yina 0*w1p PN or PYIN (anywhere) into list of NY*2n naa ornLVN
(a) reason: in all these cases, there is now no namY an>n (Y777 1YY OR) 2 PPN NPAR DITI2 DRNVN
¢ parallel 877772 90 (1) NN inside and WP (91) NV'NY anywhere is not RnYN
i source:n%1 (v.2)
1 challenge: these are n%21 (PYN2 DWTPY D292 PHIN)
ii  rather: nomvo
1 interpretation: just as n910 NV is consistent — inside or outside, so too any 110’8 which is the same
(a) excluding: p>m nvnw inside (outside — perfectly fine)
(i) and: VTP NV’NY anywhere
(i) challenge: in this case, they are equally invalid
1. answer (827): since y1na WP NVNY is sufficiently considered nvnw to generate N3 21N for "INY
¥, it must be sufficient to be considered valid no'nw to “purify” from naro?
2. therefore: the MR is not equal inside/outside
3. challenge: if so, yina 0*w1p np*on should also be considered “inequal” (>not Xnon)
a. answer (P®N 72 ’0’¥ ’7): we may infer an invalid act (%92 DWTpP NYNWY) from another inva-
lid act (yya ow1p nVNY)
i.  but: we don’t infer an invalid act (yyna 0wp nprvn) from a valid act (01192 DWTP NPvn)
ii. reason: perhaps the lack of n»%an n»a nkmv is because it was done correctly
b. challenge: we infer that a X¥v is valid (enough) that if it was put up on namn — 70 &Y — from
nna (i.e. we infer where it was done improperly from a case where it was done 1wana)
i.  defense: as we said above — the rule of 19 X5 1y oR is definitionally broad, per v. 1
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